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1) According to xynw> ' °27 explain how we know that "nwxa 012 x" refers to j0°1 7"?

2) According to »»axr (on 2"y "7 77) how do we know that pwxan avra & refers to nos 27v?

3) According to prx> 12 jam1 27, how do we know that w3 refers to oo 27w (and not the first

day of non)?

4) What is the question of the &723 from the pyos, "Pwran ora 3% annpN"'?

5) What is the answer of the &72)?

6) How does this answer present a problem for the 7% that nwxan ova x refers to noo 279?

7) What is the answer of the &723?

8) Explain what the &3 asks regarding 2715?
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